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1. (20%) TR R

A. (520.25)0=( )2

B. (011110.011 )2 =( 1o

C. (11101111100.101101 ); =( )16
D. (5524.33 )= ( )16

E. (18.8)16=( )10

2. (10%) PR bytes HeFm Ry

A. -3910 = 16

B. 66101 2" 1% = 16
3.(10%) E&E

A. 010100112+400111101>= 2

B. 7A6Ci6+29BDis= 16

4.(15%) B TYEEITHEMEEREE  UREME B R K PRITHEE -
A’ SRAM
B. DRAM
C. ROM

5. (15%) BH THEH BERETTAERT BRI PRITIRE -
A. ALU
B. System buses
C. disks

6. (30%) E—{@E CHE=  5TEH 100~1000 RYFEEH - HEvEHE 2,3,5 H{T{a]—BLEERRny - B &M ?
EE@E"JNUQ%%Q ? q:\-‘ﬂ"j%g’& ? y”EﬂHﬂ%% °

HERE




